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Exercise 8.5

1. Write the discriminant of the following quadratic equations:
(i)2x?-5x+3=0

Solution:

Given equation,

2x%-5x+3=0

It is in the form of ax?> + bx + ¢ =0
Where,a=2,b=-5andc=3

So, the discriminant is given by D = b? - 4ac
D=(-52-4x2x3

D=25-24=1

Hence, the discriminant of the given quadratic equation is 1.

(i) x>+ 2x+4=0
Solution:

Given equation,

X2+ 2x+4=0

It is in the form of ax?> + bx + ¢ =0
Where,a=1,b=2andc=4

So, the discriminant is given by D = b? - 4ac
D=(2)?%-4x1x4

D=4-16=-12

Hence, the discriminant of the given quadratic equation is - 12.

(iii) (x-1)(2x-1)=0
Solution:

Given equation,

(x-1) (2x-1)=0

On expanding it, we get

2x2-3x+1=0

It is in the form of ax?> + bx + ¢ =0
Where,a=2,b=-3,c=1

So, the discriminant is given by D = b? - 4ac
D=(-32-4x2x1

D=9-8=1

Hence, the discriminant of the given quadratic equation is 1.

(iv)x?-2x+k=0,k R
Solution:

Given equation,
x?-2x+k=0

https://byjus.com

Page No: 8.32


https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click

(V)

' R D Sharma Solutions For Class 10 Maths Chapter 8 -
QY‘"{& Quadratic Equations

It is in the form of ax®> + bx + ¢ =0
Where,a=1,b=-2,andc=k
So, the discriminant is given by D = b? - 4ac
D = (-2)* - 4(1)(k)
=4 -4k
Hence, the discriminant of the given equation is (4 - 4k).

V32 + 2W2x— 243 =10

Solution:

(vi) %2

Given equation,

V3x% +2y2x— 23 =0
It is in the form of ax? + hx +c =10

Herea =v3,b = 2v/2xand c = —2V/3
So, the discriminant is given by D = b? - 4ac
_(2v2)" = (4 x V3 x —2y3)

D=8%8+24=32
Thus, the discriminant of the given equation 15 32

-Xx+1=0

Solution:

Given equation,
x?-x+1=0Itisinthe formof ax? + bx + ¢ =0
Where,a=1,b=-1landc=1

So, the discriminant is given by D = b? - 4ac
D=(-1)?-4x1x1

D=1-4=-3

Thus, the discriminant of the given equation is -3.
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